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Choose the correct letter, A, B, C or D.

Write the correct letter in boxes 31-34 on your answer sheet.

31 A recent survey found that in British secondary schools

A there was more bullying than had previously been the case.

B there was less bullying than in primary schools.

C cases of persistent bullying were very common.

D Indirect forms of bullying were particularly difficult to deal with.

32 Children who are bullied

A are twice as likely to commit suicide as the average person.
B find it more difficult to relate to adults.

C are less likely to be violent in later life.

D may have difficulty forming relationships in later life.

33 The writer thinks that the declaration “There is no bullying at this school’
Ais no longer true in many schools.

B was not in fact made by many schools.

C reflected the school's lack of concern.

D reflected a lack of knowledge and resources.

34 What were the findings of research carried out in Norway?

A Bullying declined by 50% after an anti-bullying campaign.

B Twenty-one schools reduced bullying as a result of an anti-bullying campaign.
C Two years is the optimum length for an anti-bullying campaign.

D Bullying is a less serious problem in Norway than in the UK.

IR :

A Bullying can take a variety of forms, from the verbal - being taunted or called
hurtful names - to the physical - being kicked or shoved - as well as indirect
forms, such as being excluded from social groups. A survey | conducted with
Irene Whitney found that in British primary schools up to a quarter of pupils
reported experience of bullying, which in about one in ten cases was persistent.
There was less bullying in secondary schools, with about one in twenty-five
suffering persistent bullying, but these cases may be particularly recalcitrant.

B Bullying is clearly unpleasant, and can make the child experiencing it feel
unworthy and depressed. In extreme cases it can even lead to suicide, though
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this is thankfully rare. Victimised pupils are more likely to experience difficulties
with interpersonal relationships as adults, while children who persistently bully
are more likely to grow up to be physically violent, and convicted of anti-social
offences.

C Until recently, not much was known about the topic, and little help was
available to teachers to deal with bullying. Perhaps as a consequence, schools
would often deny the problem. ‘There is no bullying at this school' has been a
common refrain, almost certainly untrue. Fortunately, more schools are now
saying: ‘There is not much bullying here, but when it occurs, we have a clear
policy for dealing with it.'

D Three factors are involved in this change. First is an awareness of the
severity of the problem. Second, a number of resources to help tackle bullying
have become available in Britain. For example, the Scottish Council for
Research in Education produced a package of materials, Action Against
Bullying, circulated to all schools in England and Wales as well as in Scotland
in summer 1992, with a second pack, Supporting Schools Against Bullying,
produced the following year. In Ireland, Guidelines on Countering Bullying
Behaviour in Post-Primary Schools was published in 1993. Third, there is
evidence that these materials work, and that schools can achieve something.
This comes from carefully conducted ‘before and after' evaluations of
interventions in schools, monitored by a research team. In Norway, after an
intervention campaign was introduced nationally, an evaluation of forty-two
schools suggested that, over a two-year period, bullying was halved. The
Sheffield investigation, which involved sixteen primary schools and seven
secondary schools, found that most schools succeeded in reducing bullying.

%32
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Questions 33-35

Choose the correct letter A, B, C or D.

Write your answers in boxes 33-35 on your answer sheet.

33 Which one is correct about experiment conducted by Rene Marois?

A Participants performed poorly on listening task solely.

B Volunteers pressed different keys on different colors.

C Participants needed to use different fingers on different colored objects.

3
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D They did a better job on mixed images and sound information.

34 Which statement is correct about the first limitation of Marois’ experiment?
A “Attentional blink” takes about ten seconds.

B Lag occurs if we concentrate on one object while second one appears.

C We always have trouble in reacting to the second one.

D First limitation can be avoided by certain measures.

35 Which one is NOT correct about Meyer’s experiments and statements?
A People can execute dual-task just after several attempts.

B Practice can overcome dual-task interference.

C Meyer holds a different opinion on Marois’ theory.

D An existing processor decides whether delay another task or not.

X :

B The problem, according to Rene Marois, a psychologist at Vanderbilt
University in Nashville, Tennessee, is that there’s a sticking point in the brain.
To demonstrate this, Marois devised an experiment to locate it. Volunteers
watch a screen and when a particular image appears, a red circle, say, they
have to press a key with their index finger. Different coloured circles require
presses from different fingers. Typical response time is about half a second,
and the volunteers quickly reach their peak performance. Then they learn to
listen to different recordings and respond by making a specific sound.

C The trouble comes when Marois shows the volunteers an image, then
almost immediately lays them a sound. Now they’re flummoxed. “If you show
an image and play a sound at the same time, one task is postponed,” he says.
In fact, if the second task is introduced within the half-second or so it takes to
process and react to the first, it will simply be delayed until the first one is done.
The largest dual-task delays occur when the two tasks are presented
simultaneously; delays progressively shorten as the interval between
presenting the tasks lengthens.

D There are at least three points where we seem to get stuck, says Marois.
The first is simply identifying what we’re looking at. This can take a few tenths
of a second, during which time we are not able to see and recognise a second
item. This limitation is known as the “attentional blink”: experiments have shown
that if you’re watching out for a particular event and a second one shows up
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unexpectedly any time within this crucial window of concentration, it may
register in your visual cortex but you will be unable to act upon it. Interestingly,
if you don’t expect the first event, you have no trouble responding to the second.
What exactly causes the attentional blink is still a matter for debate.

E A second limitation is in our short-term visual memory. It's estimated that
we can keep track of about four items at a time, fewer if they are complex. This
capacity shortage is thought to explain, in part, our astonishing inability to detect
even huge changes in scenes that are otherwise identical, so-called “change
blindness”. Show people pairs of near-identical photos — say, aircraft engines
in one picture have disappeared in the other — and they will fail to spot the
differences. Here again, though, there is disagreement about what the essential
limiting factor really is. Does it come down to a dearth of storage capacity, or is
it about how much attention a viewer is paying?

F A third limitation is that choosing a response to a stimulus — braking when
you see a child in the road, for instance, or replying when your mother tells you
over the phone that she’s thinking of leaving your dad — also takes brainpower.
Selecting a response to one of these things will delay by some tenths of a
second your ability to respond to the other. This is called the “response selection
bottleneck” theory, first proposed in 1952.

G But David Meyer, a psychologist at the University of Michigan, Ann Arbor,
doesn’t buy the bottleneck idea. He thinks dual-task interference is just
evidence of a strategy used by the brain to prioritise multiple activities. Meyer
is known as something of an optimist by his peers. He has written papers with
titles like “Virtually perfect time-sharing in dual-task performance: Uncorking the
central cognitive bottleneck”. His experiments have shown that with enough
practice — at least 2000 tries — some people can execute two tasks
simultaneously as competently as if they were doing them one after the other.
He suggests that there is a central cognitive processor that coordinates all this
and, what’s more, he thinks it uses discretion: sometimes it chooses to delay
one task while completing another.
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previously /'pri:viesli/ adv. Sttt

bullying /'bult/ n. BRE(TH

persistent /pa‘sistent/ adj. HERY; FLEERY; BIEEAWERY
verbal /'va:bl/ adj. FiEMY; EiEHY; XFHY

taunt /tont/ v. FE; BIEE; WK, E%

shove /[av/ v. I&IEE; ELBY, EE

particularly /pa'tikjslali/ adv. 4F3l; JUE

recalcitrant /r1'keelsitrent/ adj. FIRMISIERY; ZEEERIAY; MELAEHIRY
victimize /'viktimaiz/ v. (FIEXih) (F2E, FFE
interpersonal / 1nte'pa:senl/ adj. AFRXZRAT; AR
refrain /ri'fremn/ v. Tail; R n. SEEBSIEN (FHEE
evaluation /1 vaelju'e1fn/ n. M

solely /'soulli/ adv. {¥; R; M, Bt

blink /blink/ n. BZAREE, [NkE

interference / 1nte'frarens/ n. F5%; FF; ™A
psychologist /sar'koledzist/ n. (MEZZR; (MEFHRE
sticking point/'sttkin pornt/ n. fiEgs, %, FBES

devise /d1'varz/ v. &BB; i&it; HBH

index finger /'indeks finga(r)/ n. B15
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flummox /'flamaks/ v. {EFEEK; {H5tE

simultaneously / stm(a)l'ternissli/ adv. [ERT1
progressively /pro'gresivli/ adv. Bnits; HImmESI
shorten /'foitn/ v.  ({f) TR, 45852

interval /'tntevl/ n.  (AJ/E_ERY) [EIFR, (BB, [E)&ER
lengthen /'lenBan/v. ({F) ZT

cortex /'ko:teks/ n. KR, K&, (/ti8) KERRE
attentional /a'tenfenal/ adj. ;¥EHY; RFEMN

aircraft /'eakrocft/ n. K#l; FnzSes
disagreement / dise'griment/ n. EWA—; olIE; Fit
dearth /d3:6/ n. ##=; AE

stimulus /'stimjeles/ n. {BHEZE; HHEZE,; ®EW
brainpower /'breinpavs(r)/ n. £ge; F

bottleneck /'botinek/ n. ¥55A, [, [E6E
interference / inte'frerens/ n. Fi%; FF; NH™A
prioritise /pra1'pritaiz/ v. HREZEMHEF; XD 5T
competently /'komprtantli/ adv. f(Eih; ESih

coordinate /kavu'o:dinett/ v. {EtHE; (FHEECS

=. HIEXELF
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SR ER——LUUNHea Ta R, Ithoh, M —EARAKERRIRNZTIT, tha
A SEARHERESr, EBAISOH-Bi5E(Irene Whitney) FFRAI—TUAEH,
HAVRKIERE/NFEF, BUDZ—RNFERSZIRIERN, Hpt+flha

—PIAFFERREENR, PRIRIISRED—L, XE”+RhEIFE—HIRRE

XH

AR, (BREXEERTD, ZHRETRERISIRREER,

BE: MRERECARNRY, MERELDENEFEERIARBE. £
—ERimRIER T, MREESSHER, BRFERENRLUEESAR DN,
ZEERNFENFERESZEARSBETEBEME, MARLLE HSLERURRY
A RAEEAAREESHRENNR, FIETRESAIFET.

CE ZIHRIALE, BTIX— BT EETEA %, MEER/LFREHEHIT
RGBSR RRAYESE), SOFIERSML, FREESHNX—AEAIFE.
"AFFRRBRRISR" BER—TERARFINCHE, BRBXZSHER M
AMIEEEL. RENR, IEBEKRUSHZERAN: "HNZRERRASRH A
%, (B—BHI, H(IGREMILIETTETLANSS, "

DE; SEIX—BUBE=AEER. F—RUWNRETIEMINAR, 5=, =RE
EEWERIRE LSRN SHURRIRE, thal, BE=8EmRBRIT T —&FIRY
ik (RENZITEN), FT 1992 FEFHMIRMATRIS=. BURTAAME=IEX
RIFTEEIR. BFENRITT (IERREURRISF). ER/R=HX, (KTH
IEPFERR T ARES T E) T 1993 F&17. =, AIHERE, XEHMRMT
2B, FROEMERRESERG 7 —E5E. X—EISHKE TEMRFTE
W R T T IERERIERTHE. ElREEEERAR T Tizsiz/E,
XU+ FTRROITEERAE, EREFESRIEREERI TR T —. BIEERE
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REEXS 16 FNEHD 7 FrhZ2Hy—TUAER R, KSEFRENItR> T

Multitasking Debate S{FZIBRIFC
Can You Do Them at the Same Time? {REERIBISSREEAIING?

BEZ kB BRMNFMNRHHE/RASEEEAXRS (Vanderbilt University) AY/OIES
KHN-SEER (Rene Marois) IAJ3, [ARETRINPEFER—MES. N TIE
PiX—R, SERRIT T LK EUE, SBEEE—Fs I—MEE
RUBHGLIAT, tbami—MIERERE, MU mARER T —NME. FRHE
NEBFERAARFHEINRE. —RRNEENAEY, SEERRASKEIR
ERS. ARNFERNARNREFEE R ESENE SRR,

CE: IR T, SEEREETRERT—KER, JIFERNBLAIIREN—
NRE, MIREFTELT. MhiR: "WNRIEENENEGIIRE, MafE—In
155." L b, MRERNGEDRSINEZMES, ERMENRMNE—ME
5, BABNMESHSMER, EEISE—MESTH. AR MESERS LAY
&, WEASTERNEERK, BEESHINERNALK, ERSIFHIERE,
DER HMEVPLRE=TREEEZEL, SERN. BreBRmERIIETEE
4. XAREREZRIY, FLHRRZRIITEZBEIFRBIFE "IN, XMREHR
B ERAORI . LERA, IREEIRT—MFENSEY, ME-TF
HEXNXKENTERNEORRIINN, B RIMEREFERN—T,

BIRGTERBITE. BBNE, WRIFNE—NFHAZET, BPARNET
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PMNEUHHEERERD. RERTARESE DRI BAR— N EEINE,
EE E-REEZREHNVEIMIICIZ. B, FHII—REILERERAL
AN, INFRXLEEHRES, HEMSEL. XMEENNR RIS R
A ABMNTERR L F =2 BRNERFRER, BIFTEN SHER".
BB VF— IR R —Lbanii, —KEB AR HRHNES—K
BAEHIHE T —MIIETERNEFHXEY. AT, BERAAZHEIERNESR
HERRMAFED . HREEACIZEZERRE, EERAUAIIER A BE
H?

FE SE=/MREIENRISNREDEZE—pFI, SFER EER— TR
ME, HESROEEERRR SR REEEFHRGEN N E S — O EE
A, EFENEP—HENRESERNE—HENREER 22—, XHE
1952 FERHRHN " RENEFEIN" e,

GER (EEFIRAFLIMEDRAVOIEFZR AT 1EER (David Meyer) FHASEIK,
AN EES TR R T RIS S S FNEa AT AI ISR, EEETHER
FEHRNRMENTE . BRERNE AR WEES LTSI

FEFFPIGARIRORER" . tBRISCIOFREA, BEEBRIGST—F/D 2000 JR=I

—BE AR LRRFUTRIYESS, FIEERTRIYESRITTREIR T AKE,
AT E— PRI IERS SRR —Y]), EEERIR, ERBBETHRK:

Bl ERIEFER—IES Kk m—IES.
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